Pre calcuius REVIEW
Test — Ch. 4 Part 1I
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Calculators may he used on this portion of the test.

1. Evaluate the following. The fhe nearest hondredth,
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5-6. A kettle full of water is brought to a boil in a room with temperature of 20 degrees Celsius. After 15 minutes the
temperature of the water decreased from_{_lOO degrees Celsius to 75 degrees Celsius. Find the temperature after another
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7-8. A study showed that the population of the world at the end of the year 2003 was approximately 6.2 billion.

Twenty-five years after the study was completed what would be the approximate population if it increases
at the rate of 4 % per year?
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9-10. Dbr. Willard Libby, a nuclear chemist, developed radiocarbon dating in the 1940's. In 1951 he dated the
Pead Sea scrolls using this technique. If he found 79.3 % of the original carbon-14 still present and
Carbon-14 has a half-life of 5730 years, then in about what year were the scrolls made?
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